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1 s B3 P 64 2kskskstskskoskstokskokskokok VEI K e — A 155%skskskeskskok |
2 I Es e 62 2kskkskkstokskoskookokskok S VEI] 57 e — A 1555%kskksteokstok |
3 U 7535 B3t 64 2skksksiskdokokskoksokokek () VE] K e — A 133skskskskokokek
4 LS e 64 2kskskskskstsketsketokekek () VEI] 2R e — A 15 7kskckekokek8
5 =V yia B P 64 2skkstsikskosksfkokekokskek | Ve R e — A 186skskkskkkek8
6 X4 M e 64 2kskskskoskskoskskokstokekokok VEI] R [ — ok 130skskskstesksteok |
7 e e B3 64 2skksksiskdokekstokdokokek () Ve R e — A 185skskskskokokx9
8 W EAHMG e 64 2kskskskskskoskstoskstoketoskok X VEI] 57 [ — A 150%kskskskesksteok |
9 JE & W P 64 2skksksiskdokokskokdokoskk VE] R e — A 155skskkskokokekh
10 14T ) 64 2kskskskskstsketskeoskokskek 6 VEI] 2R e — A 157k
11 i B3 64 2kskskstskskoskstokskokskoskek X VEI K e — A 183k 3
12 EZE ) 64 2ksksksksketosketokooskokskok S VEI] 57 e — A 188kskeskskeikek 3
13 % BB &5 e 64 2skksksisksdokokskokdokoskk D VE] K e — A 133skskskskokekek ()
14 Y N e 64 Qskskskskskstosksokskokokkok VEI] 2R [ — A 192skskskskskskx8
15 Zs B2t Bt - 64 2skskkstskstokskokokoskokskok 2 Ve R e — A 180ksksksksksksk |
16 Nk g B4 2s5kskstskskokokeoksketokek | VR 5 b — A 1 86kskatokakokok 3
17 =i B3 B4 0kskskstoskstoskstokskokskokok VeI R e — A 182k
18 X VA e 64 2kskskskskskoskstokstokekokok VEI] 57 [ — A 132k 6
19 B RHZ%E W P 64 2skksksisksdokokskokdokskk G VEI R e — A 157 kskskokokek ()
20 oFEH e 64 2kskskstkstsketskeskeskek () VEI] 2R e — A 155s%kskskskeokstok |
21 R B3 P 64 2kskskstksiokskoskskokokskok 5 VEI K e — A 155s%skskskskokek 5
22 IFR e 64 0kskskskskstoskstoskooskoskok 7 VEI] 57 e — A 130sskskskekokek 5
23 vyl 3T 64 2kskskstskstoskstokskokekoskok X VE] K e — A 147 kskckskokok 7
24 OEH e 64 2kskskskskstosketoskookoskek 7 VEI] 2R e — A 1 765%kskskskokek6
25 32 )L B P 64 2skksksiskedokokskokdokskk 9 Ve R e — A 186skskskskkekex9
26 e e 64 2kskskskskstosketokookoskok D VEI] R [ — A 130skskskekekokek
27 R s 64 2skksksiskdokekstokokokek () VeI R e — A 130skskskskokokek 3
28 Lo e 64 2kskskskskskoskstoskstoketoskok X VEI] 57 [ — A 1525k
29 e W P 64 2skksksiskdokokskoksdokoskek 3 VEI R e — A 183skskskskokokekQ
30 FE e 64 2kskskstokstosketoskeokokskokS VEI] 2R e — A I RES TSR
31 Xl 2= B3 62 2kskkstkskokskokskokokskok 6 VEI K e — A 186kskskskskekekQ
32 A e 64 2kksksksksdskskskoskkokskok 3 VEI] 57 e — A 132skskskskskskk
33 K4t 3T 64 2skksksisksdokokskoksdokoskek 3 VE] R e — A 133skskskskokokek 3
34 FH TN e 64 2kskskskskstskeiskeokeskek 5 VEI] 2R [ — A 1365kskskskekokek8
35 T3 B P 64 2skksksiskefokokskoksdokokek () Ve R e — A 17 3kskkskokokek 5
36 ZEEE e 64 2kskkskokstoketoskeokekskekQ VEI] R [ — A 158kskeskstesksteok |
37 B4 B3 64 2kskksioksiokskoskskoskokskokQ VeI R e — A 135k 5
38 XHRE e 64 2kskskstoskstoketoketokokskok S DS Y 183skskeskstosksteok
39 = W P 64 2swkstkckskosksokokekokokok VE] R e — A 185skskskskoksokq
40 /N g B4 2skksksteskekoksketokokokokk 7 VET 5 b — A 17 Tkskstokstokk 2
41 A B3 P 64 2ksksksikskokstokskokokoskok 3 VEI K e — A 1995k 5
42 T e 64 0kskkskoskskoskstoskstokokokok VEI] 57 [ — K 13 1skskeskekekokek6
43 HwEH i3t 64 2skksksiskdokokskokdokoskk VE K [ =4 130skskskskokokek ()
44 gk I e 64 2kskskstskstoskstoskotokeoskok VEI] 2R [ =4 1 565%kskskeskokek6
45 [ &R B P 64 2skksksiskedokokskokdokskk 8 Ve K e =4 18 Lskstskstokokek 3
46 BHEB e 64 2kskkskkstoketoskekeskek 5 VEI] 57 [ =4 183tk 7
47 ey B3 64 2kskkstskstokskoskskokokoskok D VE] K e =4 183k 3
48 JRRAT | IS D — TRV 57 il = A 176kt 5
49 IR W P 62 2skkskskskedokokskokdokskek 5 VE K e =4 182skskskskokokek 2




50 [P ANE g 64 2skkskctskekokskstokskokokk () VR K b = A 199skskskskskokky
51 X i& B3t 64 2kskkstokskokskokokoskokskok S VE K [ =4 182skskskekskakok 4
52 ES g B4 2skskskstesketokskstokokokokk D VET 5 b = A 1 55%skskskskokok 2
53 Tk /NFR Bt 64 2kskkstkstokekoskokskokskok 6 Ve K I =4 182sskskskkokok 4
54 VN W% P 620skskskskekokskstokskokokk D VR K b = A 1 30%kkstokskook 2
55 ey B3 64 2skksksiskdokokskokdokskk 8 VeI K e =4 155skskskskkekek()
56 Xl 1 g 64 2skskskstesketokskstokskokokk 3 VR K B = A 139%kskskskskokk
57 Xl gt P 64 2kskskstkskoskskoskskokokskok 2 VE K e =4 182k 7
58 X% g 64 2s5kskstskskoeskekokskeokok VET 5 b = A 182%skskskskok
59 oK HE i3 P 64 2kskskstokskoskskokskokokskok S VEI K e =4 184 ssksksteskstesk |
60 TR 4E T g B4 2skkskctskekokskstokskokokk G VR 5 b = A 18 Lkskstosksiokk
61 7k M1 B3t 64 2kskskstkskokskokskokokskok 3 VE K [ =4 155%skskskskekkQ
62 A e 64 2skkskskskdskkskokdkokskk 9 VEI] 2R [ =4 134skskskskskskx()
63 =] Bt 64 2kskkstkskoskskokokskokskok 6 Ve K I =4 136%skskskskokkQ
64 5 s B4 2s5kskstskskokokefokoketokek | VET K b = A 132%kskskskkk6
65 1oz 3 B3 64 2kskkstokskokskoskokoskokskok 6 Ve K e =4 1 30skskesksteskstesk |
66 X ¥ e 64 2skksksksksdskskskokdkokskok 3 VEI] 27 [ = A 188skskskstokskek |
67 R EE gt P 64 2kskskstokstokskoskokoskokskok 3 VE K e =4 182skskskskeskskeok |
68 g 3L g 64 2skskskstesketoksketokokokokk VET K b = A 15 5%skskskskook 7
69 RE B3 64 2:kkkskskeksksketokokkok k6 VET 5K e = A 17 Ttttk ()
70 A g B4 2s5kskstskstokkefoksketokek | VR K b = A 132%kskkskkkQ
71 RN 3 64 2:kskkskskekskkotokokokokk 2 VET 5K e = A 185skskstskekekok
79 2N kg 62 2skksksiskskekekokskeokok 4 VET 5 b = A 189skskstokstk()
73 % 1e Bt 64 2kskkstkstoskskskokskokskek () Ve K I =4 183skskskekskokkQ
74 Th= W% P B4 2skskskstskekskskstokskokokk () VR K b = A 15 Lskskstokatokok 3
75 kG B3 64 2kskkstoksioskskokskokokskok S Ve K e =4 157k 6
76 TR YL g 64 2s5kskstskskoekakokokeokok X VR 5 B = A 1863kskskskskeik()
77 L gt P 64 2kskkstskstokstokskokokskok VE] K e =4 1 76%skskskskokek 5
78 Rk g 64 2sksksksteskekoksketokokokokkQ VET 5 b = A 1 76%kskskskstok |
79 5 B3 P 64 2skksksiskdokekstokdokokek () VEI] K e =4 150skskskskkskek()
80 2k /NS kg 62 2skskskckekoksketokokokok kS VR K b = A 18 Tkskatokkotok |
81 KB R B3t 64 2kskskstskstskskokskokokokok | VE K [ =4 157k ()
82 o8 A g 64 2sksksksteskekoksketokokokokk VET 5 b = A 15 7skskstoskskokk
83 oEx Bt 64 2skskkstskstoskskoskokoskokskok 2 Ve K I =4 138kskskekeskokok 3
84 #FRH s B4 0kskskekskskstokskokok R VET K b = A 185skskskskskeik()
85 T4 B3 62 2skkskksksdokokstokdokokek 5 Ve K e =4 15 Lskskoskstokskek 5
86 tJe g B4 2s5kskstskskeekekokokeokok 4 VR 5 B = A 1863kskskskskokk3
87 FHe W P 64 2kskskkskskskokskokokskskk D VE K e =4 18 1skskskskoskskok |
88 ESE g g 64 2s5kskstskskoekekoksketokok ] VET K b = A 182kskstskskeisk()
89 H & B3 P 64 2skkskskskdokekstokdokskk G V] 3R ] TLAY 134skskkkokokekf
90 A7 ) 64 2skkskskskskskskokoskskokskok 3 VEI] 57 e LA 186skskskskskskk T
91 FB K 3T 64 2skksksisksdokokskokdokskk G V] 3R ] T 180skskskskokskesk |
92 (323 g B4 2skskskstskekoksketokokokokk S VET 5 el T A 150%sksksksksteok |
93 HAR-F Bt 64 2kskskstskskoskskokskokokokok | V] 3R ] TLAY 150%skskskskekkQ
94 2R e 64 2skkskskskdkskkokoskkokskk 6 VEI] 57 [ LA 13 1 skskskstokseok |
95 b= B3 64 2kskksioksiokskoskskokokskok S VeI 3R ] TLAY 132skskeskstesksteok |
96 S g 64 2s5kskstskskekekokokeokok X VT 5 bl T A 152%kskskskkk
97 RmEE gt P 64 2kskskstkskoskskoskskoskokskok 7 VeI 3R ] TLAY 183skskskekeskokek 6
98 VR e 64 2skkskesksksdoskskskoksdokskok g VEI] 57 el TR 17 THskskskokskx8
99 T4 B3 P 64 2skskstkekskoksokokakokdok g VeI 3R ] TLAY 186skskskskokokek2
100 FE s 64 2skskskctskekokskstokskokokk D VEETA] 5 bl T A 185skksksksketok
101 ELHZE B3t 64 2skksksisksdokokskoksokokek () V] 3R ] TLAY 132skskskskokokek 3
102 Sia e g B4 2skskskstskekoksketokokokokk 5 VET 5 bl T A 17 Ttk
103 Y2 Bt 64 2skskskstskskoskskokokoskokskok 2 V] 3R ] T 187xskskekskokok8




104 29k R e 64 Qskskskskskstosksskskokskkok X VEI] 57 e LA 135skskskskokskok |
105 Bl B3t 64 2skkstkokskoksokokekokkok g V] 3R ] TLAY 183skskskstskstokq
106 gk T e 64 2skkskskskdskskokokdkokskk 9 VEIA] 57 [ TR 158skskskskokskeok |
107 mET B P 64 Qskskskskskskskskskskokokokok | VETA K [ TR 183skskskskoksenk |
108 wAa R BisT B4 2skkskctskekokskstoksokokk g VT 5 el A 1 35%kskskskkkQ
109 FTGEE B3 64 2skksksisksdokekstoksdokoskek 3 VeI 3R ] TLAY 17 3skskkskokokek 5
110 2 g 62 2skskskcteskskokskstokskokokk 2 VT K el T A 18 Lseskstokeskstok |
111 BYaEs W P 64 2skksksiskdokokskoksdokoskek 3 V] 3R ] TLAY 183 skskskskskskk()
112 BES g B4 0ssksksteskekoksketskskookek () VET 5 bl T A 17 3seskekokesketok 4
113 1R B i3 P 64 2skksksiskdokokstokdokoskk D VeI 3R e TLAY 185skskskskokstokq
114 SRR g B4 2skkskctskekokskstokskokokk 3 VT 5 bl T A 199skskskskskok 2
115 sy B3t 64 2kskskstskstokstokskokokoskok V] 3R ] TLAY 183skskeskskeskoksk 2
116 A4 g 64 2skkskstesketokskefoksketokek | VET K el T A 17 3tk
117 KK Bt 64 2skskskstskskoskskoskokoskokskok 2 V] 3R ] T 1 76%skskskskokek 7
118 Y s B4 2skkskctskekokokstokskokokk 3 VT 5 el A 1 55%kskkskkk 6
119 Rk B3 64 0kksksksksdokokstokdokoskk 8 VeI 3R | TLAY 13 Lskskoskstokokek 5
120 ENE g 64 2skskskstesketokskstokskokokk 7 VT 5 el T A 199skskstokstokok 3
121 =Y ivia gt P 64 2kskkstkstoskskoskokskokskek ) VeI 3R ] TLAY 195s%skskskskokek 6
122 i g B4 0ssksksskekoksketkokkok k6 VT 5 bl T A 188kskstkskoiesk 2
123 Fz2 B3 P 64 2kskskstskstokstokskokskoskok D V] 3R ] TLAY 157k 6
124 A ES g B4 2skkskctskekokskstokekkokk 6 VT 5 bl T A 17 Ttk 2
125 094 B3t 64 2skksksisksdokokskokdokoskek 3 V] 3R ] TLAY 156skskkskokkex8
126 E/NE kg B4 2skskskstskekoksketokokokok k6 VET 5 bl T A 15 7skskstokatokok 3
127 Zspa Bt 64 2kskkstkskokskskokskokskekQ V] 3R ] TLAY 17 3skskskekeskoksk )
128 = e 64 2sxksksksksdskskokokkokskok 3 VEI] 57 [ LA 155s%ksksksksksksk()
129 FHEZ B3 64 2skksksiskdokokstokdokoskk VeI 3R | TLAY 185skskskskokokex9
130 ENTEAN e 64 2skksksksksdskskokokskokskok T VEI] 57 [ LA 151 skskskskokskk 7
131 FAirf W P 64 2kskskkskskskokskkokskskk V] 3R ] T 182kskskskskskok()
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AR )1 sesketksketeskotoskskotok £ 7 3000
AR )1 sestskestoskstosksteskskoskok 9 2000
T B ek 8 2000
A ekeskstekekskoksokokek 7 5000
T B sekekskekskskokskokskok 10 2000
T B sekskskekekekkekkekok 12 4000
AR 1 [ssksrstesrsteskstesketekek 4 7 3000
VR Y|tk 1| 430 5] 12 2000
AR )| [etsttatatokootatorok 6 2000
AR )1 | sestskesteskstesksteskskoskok 12 2000
T H stokesioksokoksdokek 8 5000
T B sekekskekskekskekokekok 8 4000
DRI skekskstskstoskstoskskokok ) 12 5000
T B setckrsoksokokeokok 10 4000
JE skstesksteskstesksteskskskak 12 4000
i B skekskstesksiesksteskstokok 10 2000
T B sekskekekekskekskokskok 9 2000
T B sekekskekekekkekkekok 8 4000
T B ek 8 3000
B 15 soksketokstokoksokokok 12 5000
i [ sekstskkstoksstokok 41 ) 1] 43/ ] 12 5000
T B sekekskekskekskekkekok 7 3000
Fo A ekstetekekskokatokokok 7 5000
T B setskersoksokoksokok 12 4000
AR )| [stsksteretottokskorok 6 2000
T B sekekskekekekskekokekok 12 2000
T B sekskekekekskekskokskok 12 3000
T B sepkeriokskokokeokok 2\ ) 12 4000
T B ek 10 3000
T B sekekesoksfokokeokok 12 5000
AR )| sesketooketokoketokokok 10 4000
T B sekekskekekekskekekekok 12 5000
AR )| [etstttatokootatorok 12 4000
Pskskseksksekeokokek ) 12 5000
AR )| [stsksteretototokskorok 12 5000
T IR skskekskekskekskekokekok 12 3000
e G steskstesksteskstesksteskstok 12 4000
P sfskkseksksekeokokek ) 12 4000
T B ekskokkekokokokokoskok 8 5000
A ekskstkekskkefokokek 8 5000
] T seskststokekekstokokekok 6 3000
R Fkksstokokektokokkk 55 ) 8 3000
HH g sekskstokkskokstokakok A\ ] 12 4000
B sekskerskorskoiskkokeok 9 5000
T B sk 12 4000
T B sekekkekekekskekokekok 12 3000
b B tekskstekekskokotokokok ) 12 5000
AR )1 sestskesteskstesksteskskoskok 12 4000
T B sk 12 3000




AR )1 | skstskestoskstesksteskskoskok 12 3000
T B ek 12 5000
TR Y seskstsksksteskskosskefok ] 12 5000
T B ek 12 3000
T B skekskeskskkskekekokokok 1) 12 2000
i 7 deksketokekskoketokokok 9 5000
T B skekokstokstokskokokokok 75 6 2000
T B ek 12 5000
T H krkiokkokkkkohok 127 H 4000
AR )1 skekskateskokokokakokokok 6 2000
AR )1 skstskesteskstsksteskskoskok 12 5000
P S kesktetokekekokatokokok 8 5000
T 2 setskssiekefokoketokok 12 3000
P 2 sksrsksiokskokskokokokok 12 5000
R ) 1| skstskestoskstosksioskeskoskok 12 3000
T B ek 8 3000
T B sekekkekekekkekekekok 8 4000
T B sk 8 4000
AR )1 | sestskestskstesksteseskoskok 9 2000
T B ek 12 4000
_E i seskeskerskorskeokskok 6 5000
TG A7 Hsksrstskeksoketokokok 12 3000
VEETA] seskstoeskafokskekokokok 12 3000
i B stoktctokoksokadokokok 12 5000
F o ckersokekokokokokk 12 5000
T B sekskkekekskekskokskok 6 2000
H Wosiesksioesksfoksksokokok 11 5000
AR )| [tsttotatokottatorok 9 5000
T B seteksiekskekekekekekok 6 3000
T H stokssioksokoksdokek 9 5000
koo O R A PR A 7 44 12 4000
B Eltctekokokokeokok 9 5000
T B setskersokeokoksokok 12 4000
ST skekskskosk stk skokskokok ) 12 4000
VR Y| seksksiesksiesksieskstskok 12 2000
T B sekskkekekskekskokskok 11 4000
22 FEskrekokokokok 9 5000
AR )| [etsttatatokootatorok 9 5000
T B setekesoksokokeokok 12 5000
T B ek 7 5000
T ) sekrstekesokeokokek ) 9 5000
T B ek 8 5000
b i sskekstokstokstokskokk /N ] 9 5000
R — Y= 10 5000
pkkkkokkk H N E B — A5 5 RS 10 4000
5 Gl Hkeretkeksoketokokok 10 5000
AR )1 sestskesteskestesksteskskoskok 10 2000
T B sk 7 5000
P S skkskstoksioeksfokokok 8 4000
PN S skskststekkefotokokefok 8 3000
B i seskerskerskerskokskok 7 4000
T B ek 11 5000
AR )1 | sesksestskstesksteskskoskok 11 5000
T B sekekskekekskekskokekok 12 5000




T B sekekskekekekskekokekok 12 5000

R IR Asksrsteskokoskokokokokok 12 5000

R kekskskseksokskeok ok 12 5000

TR [ Hekskstokskstektoksiok /A H] 12 2000

T B sekekskekekekskekokekok 11 5000
R el Y 7 3000

T stk BL 25 M 25 LA 8 3000
CH sedokkedokskokolok 1) (52 R A8 A 12 3000
B seloksoksdoketokk 5] 52 IR 43 A 12 4000
T B ek 10 4000

T B sekekskekekekekekokekok 12 5000
tekstoltolstolotolotok FRAACE RN TAEA R 12 3000
T B setskersokeokoksokok 10 4000

T H seksokstoksdokatokakosk 43\ ) 12 5000

PR S skskerstoksiokoksokoksk 10 5000

P S skeksketokekokokatokokok 7 3000

PR S skkskstoksiooksfokokek 9 4000

P S tsktetoketokokatokokok 9 4000

B sokesksteskskokokefokokok 11 3000

T A seketstokkestokokegok 12 3000

ST Hkskskeskokskskskokokskk 10 4000

T B ek 8 3000

T B setskkekskekekskekekok 8 5000

A skekeskskeskskeskskskskokok 10 4000

2T Fpsetsketskeskokskokskeok 6 3000

T B seckekekekskokeokekok 2\ T 10 5000

AR ) 1| sestskestoskstesksteskskoskok 10 2000

AR )| [tsttotatokottatorok 10 2000

505000




